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Section A : { 30 x 2 MARKS )

For each question from 1 to 30, four options-are given. One of them is'
the:correct:answer. Make your choice (1; 2, 3 or 4).-Shade the correct
-answer-(1;2; 3-or 4)'on the Optical Answer Shéet (DAS) provided.

1. We can use the following chart to group all the things around us into
two broad groups, X and Y.

Things

What do X and Y represent?

(1) Animals Plants

(2} Living things Non- living things -
(3) Live on land ' Live in water -
(4) Things that are smooth Things that are rough

2. Study the table below carefully.

* Need food e Do not need food
» Move away when touched » Do not respond to touch _
» Increase in mass and size + Do notincrease in mass or

- size

Which one of the following sets of grouping &

and 82
(1) _ Crow - _ Butterfly
{2) | Towel Water bottle
3) 1 Land animals Sea animais
4) Earthworm | Storybook

2



3.

Prachi put 4 Caterpiltar into each of the three containers A, B and C and

left them near an open window as shown below.
Green leaves Lid Hﬂes Lid Lid with no holes
 Caterpiliar
Container A Container B Container C
Which container(s) will have a caterpiltar that would still be aiive after
one week?
(1) Container A only
{2) Container B only
(3) Containers A and B only
(4) Containers B and C oniy
Which of the following statements best explain why plants do not need

to move around much or quickly?

(1)
(2)
(3)
()




A potted plant was placed in a thick cardboard box with foui*Héles at
-the sides with a light source at one of the holes as shown in the
- diagram. The cardboard box was then placed in a dark room. Which
one of the holes would the plant most likely grow towards after one

week?

(1) A
{2y B
(3) C
4 D

Light source

Which of the following materials are not commonly used for making

school bags for young children?

(1)
(2)
(3)
(4)

cOo>

D only

A and B only
B and C only
C and D only




Which of the following objécts are made with more than two types of
materiais? '

[ (A) NG
() (D)

(1) A and D only
(2) B and C only
(3) B and D only
(4) A CandD only

The picture below shows a raincoat.

What properties must be considered when choosing a suitable materiaf
to make the part labelted X ? ' :

(1)  Aonly

2y AandB only
(3) CandDonly
(4) B.CandD only



9.

10.

Study the flow chart carefully.

w Yes

No

W

Is it flexible?

Does it have
the ability to float?

Yes

No

Yes - Y

b4

Z

Which one of the following objects can be placed at Y'?

(1)
(2)
(3)

@

Abigail observed that a kettle is made up of a few different types of

materials.

materials are used.

She made some comments on the reasons why these

e
ar Ke

It is made

of -}ubbef: as
feel hot when you hold it.

It is made of metal as metal is
Wwaterproof

It is made of plastic as piast-ics can
withstand heat.

it is made of metal as metal can
heat up the water faster.

It is made of ceramics as ceramics
can withstand heat.

It is made of metal as metal is
waterproof.

X E BX

| It is- made of metal as metal can

heat up the water faster.

It is made of -berén}i_cs:as ceramics
is waterproof and can withstand
heat.




11.

12.

Which of the following parts belong to the skeleta] system only?

(1)
(2)
(3)
(4)

Juanita was blindfo_ided to do a smeill test. Some objects were placed in
front of her,

Objects
placed here

Which one of the following objects will she not be able to know if she is
not allowed to touch and taste?

.
3 __ @ Y. (!




13.

14.

Karen ate a hamburger for lunch. The burger she ate would take -the

following pathway.

l Mouth " A >

B >

C

P

D

Anus

Which one of the foliowing grou
respectively?

ps of organs could A", B, C and D be

M| ‘

M intestine

(2)

(3)

(4)




15.  The diagram beiow shows part of the human digestive systern.
Which of the following activities take(s) place in A?

A

(1)
(2 AandC only
(3) B and D only
{4) B,Cand D only

16.  The tabie below shows the characteristics displayed by four animals, A, B;
Cand D.

No No Yes No
C T__%%W_—‘——v Yes

! D Yes _ Na Yes No
— Y

Which one of the animais, A, B, C or D, is a turtle?

h A
2) B
3) ¢

D

(4)



17.

18.

The picture below shows a sweet comn.

H

(D B and C only
(2) A and D only
(3) A, B and D only
(4) A, B, Cand D

The pictures below show 2 organisms, X and Y.

Organism X ' Organism Y

Which of the following correctly describe the-difference_between Xand Y?

Il e e i )
ganism.

bear flowers

imake food

(1) AandBonly
(2) Cand Donly
(3) A.BandConly
{(4) A,B,CandD
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19, Study the flow chart below carefully.

’ Living things

Can it- move
freely?

Does it make
food?

Does it
give birth?

Which one of the following grdups of organism best represents the letters,
R,Sand T respectively? -

(1)

(2)
(3)
(4)

Coconut tree Mushroom
Ginger - Toadstoo!
Toadstool Bread mould

his
20.  Michael observed two animals, P and Q from bef garden. He drew a
checklist and placed a tick (¥} in the box when he made the observation.
The completed checklist is as follows:

Lizard -
Crocodile

Which one of the following statements is likely to be faise?

(1) Animal®l is a HED

(2) Animal @has g
(3) Animai@is anf
(4) Animaf@does g

L



21.  Study the classification chart below carefully.

Animals
Group X
Group A Group B Group Y
Guppies Giraffes Eagles
Dolphins Rhinoceros Emus

Animals under Group Y lay eggs. Which one of the fo‘llowing is the correct
set of headings for Groups X, A and B respectively?

(1
(2)
(3)

(4) |

22.  Which one of the followin
plant?

(1)

(2)

(3)

(4)

" Give birth to

12

g is the correct path taken by the water in the _




23.  The picture shows a plant that has been uprooted from the ground’
A, B, C and D are the different parts of the plant.

Which one of the following sets of plant parts represents A, B, CandD
respectively?

{1) :'.Roots_' — 'Bud. . ‘ ';Leaves T Stem —

2) Tww Leaves

(3) WWT Roots

(4) WE—WW_— Bud
—________J_\JN_______J

24.  Which of the fotlowing statements show(s) the function(s) of the roots?

A It anchors the IETRSEEER
B it 48 the @llt so it can 8§
D It

(1) Aonly

2) AandC only
3) BandD only
(4) A,B,CandD

13



25.  Study the classification chart below.

Edible Plant Parts
Root Stem Fruit Seed
Stores food Usually long Contains seeds Usually tiny
Carrot X Watermelon Y

Which one of the following could be X and Y respectively?

(B

(2)
(3)
(4)

26.  Study the classification chart below.

Leaves

l

Leaf A Leaf 8 Leaf & Leakl

Which cne of the above leaves is placed in the wrong group?

(1} A
(2) B
(3) C
4 O

14



27.  Inthe flow chart below, P, Q and R represent three plant paits,

Plant Parts

Which one of the following best represents P,Qand R reépective!y?

(1)

- (&
(3)
4)

28.

Wliic_:h one of the foliowing correctly shows stages W, X, Y and Z
respectiveiy? _ '

.- Staged Stagegd
(1) Seedling Flower  Fruit
(2) : Flower Seed Seedling.
(3) Seediing Seed Fruit Flower
@[ _Fower | Fun Seed Seedling |

15



28,

| 30' -

Which of the foliowing conditions are needed for a seed to Star{éréwing
into a young plant?

TOWP

(1} AandBonly
(2) BandDonly
(3) A, BandConly
(4) A, CandDonly

Heather wants to find out how fast:similar seeds. grow dnller two.different
conditions’ She puts a seed each into twe-simitar pots of 'soil, labelled pot
A and pot B. She then places' Rétiin:adosam and Pot-B-in-the garden.
She waters the seeds in both pots with 100 ml of water daily.

She records the growth of the seed every 2 days for 8 days. The table
below shows the height of each seedling.

Height of seedlings (cm)
Pot Day 0 Day 2 "Day 4 Day 6 Day 8
A 0 2 3 5 8
B 0 0 1 2 4

Which one of the &

\b({_ Seedling in pot A is sheltered from rain and wind.
¥ Seedling in pot A has to reach out to get sunlight.

$3} Seedling in pot B is not sheltered from rain and wind.

%- Seedling in pot B does not get enough sunfight in the garden.

-- END OF SECTION A --
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Section B : {40 marks)

For questions 31 to 45,

31. Kumar placed f&tir: thifigs, eoné ineach cage. He placed a% 251817 hal

WSt togEtHE“Witti“300g of -meat-an -300g of leaves esch ! He
recorded the amBunt of Misatang: i@ﬁi’ifé?;‘*téﬁ-*behind"i‘ﬁf’each-'isage“élﬁﬁ?
for-fivedays. The table below shOWS HISTitding

17 300 300 87 300 300 300 11

{a)  From the table above, which cage did Kumar most likely place a
spendlitgthing in? Explam your answer. [2]

(b)  Kumar made some Conclusions: after. the ‘experiment. However,
only some are correct. -

Pt - itk ( V- )oin the bidx 'below ts indicats &y comect -
statement Kumar had made. [1]




32.  Below shows a watch that has the
* ltsstrapis waterproof.
* lts strap is light and flexible.
* lts buckle is strong and hard.

» ltsface is covered with a hard and transparent material.

following properties.

Write down suitable material as described above that can be used to
make each part of the watch as shown below. [1%4]

(a)

(b)

33.  Study the table beiow carefully.

a)  Write down the c8WECU RG4S that match esch setof properties
givefrinthistable balow. (2]

[whén droppe

b}  Which one of the material

s above is suitable for making a toy boat?
Explain your answer.

(1]




34.

Shawn wanted_tcr" anciZ _rli-ﬁie

'ﬁ-%‘trength ‘Offour fateriald, Wi XY
S on _minimumm

Support

Materiat

(a)

(1

(b) j AT GSE O RE ‘bogkshelf
thaticati Wlfﬁsiﬁl@f A &;@xmm Ao oTUE 15 7 K Explain your
answer. _ [2]




35.  Mother put some heavy things’into a carrier bag. However;  after

carrying it for a few minutes, the base of the carrier bag tore.

a)  Whatis the material that the carrier bag is likely to be made of?
[1]
b) Is it advisable for Mother to use a carrier bag that is made of
metal?:Explain your answer. [1]
c) If Mother wanted to put some wet ve

_ getables into the carrier bag,
what material'should the carrie

r bag be made of? Give a reason
for your answer.

(2]




36.

Steve is eating a towl of hot dumpling-noodies. He uses apatrof
chopsticks to hold the dumpling.

b)

Name the bedy systeni(s)' that is/are involved when Stave. uses

his hand to pick.up the :dumpling from the bowl with a: pair of

chopsticks. {1}

Steve talked to his f_n'end while he is eating his noodles.
Suddenly, he choked and:cotighedSontintousl.

antipf the: bodywhicH
chioke? {1}

the naodios b

(i) Nose

(it} Gutitet

(i) Lungs

(iv) Stomach

(v) Windpipe




37.  Mrs Choong is seen blen

ding some sotid food f6r her 5-month-old baby
with a food processon,

a)  Why does Mrs Chaong blend the food before feeding her baby?
[1]
b) In which part of the digas

't'ii?é"-“s’g‘iﬁféﬁiféiaéfsiﬁige:sﬁc:n first begin?. .

{1

-—
c) What is the substance that he

Ips to break down the food in the .
part in {(b) above known as?.

(1]




38.  Look at the pictures of organisms A, B-and C as shown beiow.{f""’ o

(a)

Classify organisms A, B and C using the classification diagram

below.

Organisms

|

[14]

Does not move freely
from place to place

Move freely
from place to place

Group X

Group Y

(b)

{©

The organisms that do not move freely from place to place are
further grouped according to the way they reproduce. Write
down the suitable headings for Groups X and Y. ' (1]

Group X:

Gro_up Y:

Hannah compared their characteristics and claimed that
organism C'is different from organism Arand B? Is she correct?
Explain your answer.

4




Coliditions heeded for bread .
y spritikled the-same ‘amount of watér onto*2’slices:
utting eaeh:ef-them into -an-airtight plastic. bag. They
agedeone bag into a drawer:and the-other bag into the freezer
compartment. :

39.  Minah and her mother wanted to tést
moul

(@) They ohserved some moulds:en: the bread that is placed in the
. drawer. What are the conditions that have helped mouids to
grow? - {1]

(b)  Will mould grow on the bread in the freezer compartment?
Explain your answer. [1}

40.

Orchid plant Bird’s nest fern

(a) HESH SRR TSR ss , state tREFHER NSRS between the

SeRiap é“ﬁtandthebwdsnest fern. + [2]
(B

(i) o

(b} Both the geehid.plant e bid S HESH R4 grecn and.
et LondwalgBrgiaw State oncioiesy




41.

Study the flow chart below.

Animals Lays eggs? Live on land?
A B
a) What is the difference between A and C? {1
b) David said that C can be a swordtail. _
is David correct? Explain your answer. 1]
: ' O
c} f A is a mammal, give an example for A. 11

10




42.

[ Plant

Fauziah observediam
her observations in the

Does it bear
flowers?

eplants in hesschoot's:

table below.

How: is the leaf
v_ein_ lie

g bk
B vhret ‘h'e- 7

€co-garden and rééorded

Where is it
found?
Land

LAl T

Paralle}
vein

(d)

11




43.  Louis recorded the height of a@"{?er‘igﬁéénseedhﬁgover 5 déys and ]

drew:arbaeGraph 38 SHown below.

4

Height of seedling

4

(a)

What wouid happen to the stem if Louis did not water the
seedling for two weeks? [11

(b)

12




44.  The diagram below shows a seedling that has just sprouted .

Seed coat

(a)  Which part of the seedling, A; B, CarD, will first appear? How
does it grow? . ' 1]

(b)  Write down the fiifictishs’ of part A and part B in the blanks
beiow. . (]

Part A .

Part 8

{c) What will happen to the seedling if it is pulled out from the sail?
Explain your answer. [1]

-- END OF PAPER --.

13







EXAM PAPER 2009

SCHOOL : CHIJ PRIMARY
SUBJECT : PRIMARY 3 SCIENCE

TERM : SA2

QL Q2 Q31Q4]Q5[ 061 Q7 Q8 1 Q9 1Q10[Q11|Q12

2 4 1 4 3 4 1 2 3 2 1 2

QI8 10191 Q201 Q21| Q22| Q23 [ Q24 | Q25 [ Q26 | Q77 ] Q28] Q29 Q30

112 4)13[3(a{212al2]ai3]3

31)a)Cage C. It is because the thing in cage C did not eat any meat or leaves
but the things in cage A,B and D did.
b)The animal in Cage A is a meat-eater

32)a)Glass b)metal c)Rubber

33)a)i)Glass ii)Wood
b)Wood. It does not break easily and it floats on water.

34)aymaterial Y.
b)material X and Z. They can hold weights that are more than 7kg.

35)a)Paper
b)No. It is heavy and it is not flexible.
c)plastic. It is waterproof.

36)a)Muscular and skeletal System.
b)v

37)a)lt is because a 5-month-old baby does not have teeth to grind the food
so the baby can only eat smafil and soft food. :

b)Mouth.

C)Saliva.

Page 1to 2 page 1




38)a)A GroupX:B GroupY:C
b)X: Reproduce by spores
Y: Reproduce by seeds
c)Yes. It is because organism C can make food but A and B cannot.

39)a)water and warmth.
b)No. The bread in the freezer is cold and hard so mould cannot grow on
the bread.

40)a)i)The orchid plant has flowers but the birds nest fern does not.
ii)The orchid plant has two leaves but the bird’s nest fern has many
leaves.
b)They can reproduce.

41)a)A lays eggs but C does not. ,
b)Yes. A swordtail gives birth to young alive.
c)The spiny anteater.

42)a)8 b)F Cc)A d)p e fC

43)a)Air, water and sunlight.
b)Soft.

44)a)D. It grows down wards.
b)A: Provide food for the seeding.
B: Help the plant to make food.
c)it will die. It will not be able to get water and mineral saits from the soil.

Page 2



